South East Asian J. of Mathematics and Mathematical Sciences Vol. 21, No. 1 (2025), pp. 63-76

ISSN (Print): 0972-7752

STUDY ON LORENTZIAN PARA-KENMOSTU MANIFOLDS ADMITTING GENERALIZED TANAKA-WEBSTER CONNECTION

Shyam Kishor and Shivam Mishra

Department of Mathematics and Astronomy, University of Lucknow, Lucknow - 226007, Uttar Pradesh, INDIA

E-mail: skishormath@gmail.com, shivamsm31897@gmail.com

(Received: Oct. 28, 2024 Accepted: Mar. 26, 2025 Published: Apr. 30, 2025)

Abstract: In this study, we analyze the curvature properties and Ricci solitons in Lorentzian para-Kenmotsu manifolds using the generalized Tanaka-Webster connection. Here, using a generalized Tanaka-Webster connection, we examine the recurring conditions of the Lorentzian para-Kenmotsu manifold, projective curvature tensor, and conharmonic curvature tensor. Furthermore, using a generalized Tanaka-Webster connection, we investigate Ricci solitons on Lorentzian para-Kenmotsu manifolds.

Keywords and Phrases: Lorentzian para-Kenmotsu Manifold, Generalized Tanaka - Webster connection, ϕ -recurrent, Ricci-solitons.

2020 Mathematics Subject Classification: 53C05, 53C07, 53C50.

1. Introduction, Notations and Definitions

On a non-degenerate pseudo-Hermitian CR-manifold, the Tanaka-Webster connection is a canonical affine connection [18, 21]. For contact metric manifolds, Tanno [19] defined the generalized Tanaka-Webster connection via the canonical connection, which is equivalent to the Tanaka-Webster connection provided that the corresponding CR-structure is integrable. Numerous writers have recently examined the generalized Tanaka-Webster link in Kenmotsu manifolds [5, 13, 15].

Hamilton [6] first proposed the idea of Ricci solitons in 1982. They are Einstein metrics in their most natural form.

$$(L_X g)(U, V) + 2S(U, V) + 2\lambda g(U, V) = 0, (1.1)$$

is the definition of a Ricci soliton (g, V, λ) on a Riemannian manifold (M, g), where L_X is the Lie-derivative of Riemannian metric g along a vector field X, λ is a constant, and U and V are arbitrary vector fields.

An n-dimensional differentiable manifold M equipped with a structure (ϕ, ξ, η, g) is classified as a Lorentzian almost paracontact metric manifold if it possesses a (1, 1)-tensor field ϕ , a contravariant vector field ξ , a 1-form η and a Lorentzian metric g that satisfy the following conditions [1]

$$\eta(\xi) = -1,\tag{1.2}$$

$$\phi^2 U = U + \eta(U)\xi,\tag{1.3}$$

$$\phi \xi = 0, \eta(\phi U) = 0, \tag{1.4}$$

$$g(\phi U, \phi V) = g(U, V) + \eta(U)\eta(V), \tag{1.5}$$

$$g(U,\xi) = \eta(U), \tag{1.6}$$

$$\Phi(U, V) = \Phi(V, U) = g(U, \phi V). \tag{1.7}$$

A Lorentzian almost Paracontact manifold M is said to be a Lorentzian para-Sasakian manifold if

$$(\nabla_U \phi)V = g(U, V)\xi + \eta(V)U + 2\eta(U)\eta(V)\xi, \tag{1.8}$$

for any vector fields U, V on M. Now, we define Lorentzian para-Kenmotsu manifold: (i) A Lorentzian almost paracontact manifold M is referred as a Lorentzian para-Kenmotsu manifold if the following condition holds for any vector fields U and V on M:

$$(\nabla_U \phi)V = -g(\phi U, V)\xi - \eta(V)\phi U, \tag{1.9}$$

for any vector fields U, V on M.

In a Lorentzian para-Kenmotsu manifold, we have

$$\nabla_U \xi = -U - \eta(U)\xi, \tag{1.10}$$

$$(\nabla_U \eta)V = -g(U, V) - \eta(U)\eta(V), \tag{1.11}$$

where ∇ is the Levi-Civita connection with respect to the Lorentzian metric g. Further, on a Lorentzian para-Kenmotsu manifold M, the following results hold:

$$g(R(U,V)W,\xi) = g(V,W)\eta(U) - g(U,W)\eta(V), \tag{1.12}$$

$$R(\xi, U)V = -R(U, \xi)V = g(U, V)\xi - \eta(V)U, \tag{1.13}$$

$$R(U,V)\xi = \eta(V)U - \eta(U)V, \tag{1.14}$$

$$R(\xi, U)\xi = U + \eta(U)\xi, \tag{1.15}$$

$$S(U,\xi) = (n-1)\eta(U), S(\xi,\xi) = -(n-1), \tag{1.16}$$

$$Q\xi = (n-1)\xi,\tag{1.17}$$

$$S(\phi U, \phi V) = S(U, V) + (n - 1)\eta(U)\eta(V), \tag{1.18}$$

for any vector fields $U, V, W \in \chi(M)$.

First Bianchi identity with respect to Levi-Civita connection is given by

$$R(U,V)W + R(V,W)U + R(W,U)V = 0. (1.19)$$

(ii) If Ricci tensor of Lorentzian para-Kenmotsu manifold satisfies the condition

$$S(U,V) = ag(U,V) + b\eta(U)\eta(V)$$
(1.20)

where a and b are scalar functions on M, then manifold is said to be η -Einstein manifold. If the Ricci tensor of the Lorentzian para-Kenmotsu manifold satisfies the condition

$$S(U,V) = ag(U,V) + b\eta(U)\eta(V) + c\varphi(U,V), \tag{1.21}$$

where a,b and c are scalar functions on M and $\varphi(U, V) = g(\phi U, V)$, then manifold is said to be generalized η -Einstein manifold [23]. If c = 0, then the manifold reduces to an η -Einstein manifold.

2. Curvature properties of Lorentzian para-Kenmotsu manifolds admitting generalized Tanaka-Webster connection

In this paper, we use the symbol * to represent the quantities associated with the generalized Tanaka-Webster connection. The generalized Tanaka-Webster connection ∇^* in terms of Levi-Civita connection ∇ is given by [5, 20]

$$\nabla_U^* V = \nabla_U V - \eta(V) \nabla_U \xi + (\nabla_U \eta)(V) \xi - \eta(U) \phi V, \tag{2.1}$$

for any vector fields U, V on M. Using (1.10) and (1.11), the above equation reduces

$$\nabla_U^* V = \nabla_U V - g(U, V)\xi + \eta(V)U - \eta(U)\phi V. \tag{2.2}$$

By taking $V = \xi$ in (2.2) and using (1.10), we get

$$\nabla_U^* \xi = -2U - 2\eta(U)\xi. \tag{2.3}$$

We now find Riemann curvature tensor R^* , using (2.2), we get

$$R^{*}(U,V)W = R(U,V)W + 3g(V,W)U - 3g(U,W)V + 2\eta(U)g(V,W)\xi - 2\eta(V)g(U,W)\xi - 2\eta(U)\eta(W)V + 2\eta(V)\eta(W)U - 2\eta(U)\eta(W)\phi V + 2\eta(V)\eta(W)\phi U.$$
 (2.4)

Taking $W = \xi$ in (2.4), and using (1.4), we get

$$R^*(U,V)\xi = 2\eta(V)U - 2\eta(U)V + 2\eta(U)\phi V - 2\eta(V)\phi U. \tag{2.5}$$

On contracting (2.4), we obtain the Ricci tensor S^* of a Lorentzian para-Kenmotsu manifold with respect to the generalized Tanaka-Webster connection ∇^* as

$$S^*(U,V) = S(U,V) + (3n-5)q(U,V) + (2n+2\psi-4)\eta(U)\eta(V), \tag{2.6}$$

where $\psi = trace(\phi)$.

This gives

$$Q^*V = QV + (3n - 5)V + (2n + 2\psi - 4)\eta(V)\xi. \tag{2.7}$$

Contracting with respect to U and V in (2.6), we get

$$r^* = r + (3n - 4)(n - 1) - 2\psi, \tag{2.8}$$

where, r^* is the scalar curvatures with respect to the generalized Tanaka-Webster connection ∇^* and r is the scalar curvature with respect to the Levi-Civita connection ∇ .

The projective curvature tensor P^* [22] associated with the generalized Tanaka-Webster connection ∇^* is defined as follows:

$$P^*(U,V)W = R^*(U,V)W - \frac{1}{(n-1)} \{ S^*(V,W)U - S^*(U,W)V \}.$$
 (2.9)

If the projective curvature tensor P^* associated with the generalized Tanaka-Webster connection ∇^* is zero, then from (2.9), it follows that

$$R^*(U,V)W = \frac{1}{n-1} \{ S^*(V,W)U - S^*(U,W)V \}.$$
 (2.10)

Now, in view of (2.4) and (2.6), (2.10) takes the form

$$\begin{split} g(R(U,V)W,Y) + 3g(V,W)g(U,Y) - 3g(U,W)g(V,Y) + 2\eta(U)g(V,W)\eta(Y) \\ - 2\eta(V)\eta(Y)g(U,W) - 2\eta(U)\eta(W)g(V,Y) + 2\eta(V)\eta(W)g(U,Y) \\ - 2\eta(U)\eta(W)g(\phi V,Y) + 2\eta(V)\eta(W)g(\phi U,Y) &= \frac{1}{n-1}\{S(V,W)g(U,Y) \\ + (3n-5)g(V,W)g(U,Y) + (2n+2\psi-4)\eta(V)\eta(W)g(U,Y) \\ - S(U,W)g(V,Y) - (3n-5)g(U,W)g(V,Y) - (2n+2\psi-4)\eta(U)\eta(W)g(V,Y)\}. \end{split}$$

Now, taking $Y = \xi$ and $U = \xi$ in (2.11), we obtain

$$S(V,W) = (-n+3)g(V,W) + (-2n+4)\eta(V)\eta(W). \tag{2.12}$$

Contracting the above equation (2.12), we get

$$r = -(n-1)(n-4). (2.13)$$

This leads to the following:

Theorem 2.1. If in a Lorentzian para-Kenmotsu manifold, projective curvature tensor with respect to generalized Tanaka-Webster connection vanished then manifolds reduces to η -Einstein Manifold.

Now, interchanging U and V in (2.9), we get

$$P^*(V,U)W = R^*(V,U)W - \frac{1}{n-1} \{ S^*(U,W)V - S^*(V,W)U \}.$$
 (2.14)

After summing up (2.9) and (2.14) and applying the formula R(U, V)W = -R(V, U)W, we obtain

$$P^*(U,V)W + P^*(V,U)W = 0. (2.15)$$

From (2.4), (2.9) and (1.19) we obtain

$$P^*(U,V)W + P^*(V,W)U + P^*(W,U)V = 0. (2.16)$$

The projective curvature tensor with respect to the generalized Tanaka-Webster connection in a Lorentzian para-Kenmotsu manifold is therefore skew-symmetric and cyclic, as we may infer from (2.15) and (2.16).

(i) A Lorentzian para-Kenmotsu manifold is called ϕ -projectively semi-symmetric with respect to the generalized Tanaka-Webster connection ∇^* if

$$P^*(U,V) \cdot \phi = 0, \tag{2.17}$$

for all vector fields U,V on M.

Now, from (2.17), we have

$$(P^*(U,V) \cdot \phi)W = P^*(U,V)\phi W - \phi P^*(U,V)W = 0.$$
 (2.18)

Using (2.9), (2.4) and (2.6) in (2.18), we get

$$R(U,V)\phi W + 3g(V,\phi W)U - 3g(U,\phi W)V + 2\eta(U)g(V,\phi W)\xi$$

$$-2\eta(V)g(U,\phi W)\xi - \phi(R(U,V)W) - 3g(V,W)\phi U + 3g(U,W)\phi V$$

$$+2\eta(U)\eta(W)\phi V - 2\eta(V)\eta(W)\phi U + 2\eta(U)\eta(W)V - 2\eta(V)\eta(W)U$$

$$+\frac{1}{n-1}\{S(V,W)\phi U + (3n-5)g(V,W)\phi U + (2n+2\psi-4)\eta(V)\eta(W)\phi U$$

$$-S(U,W)\phi V - (3n-5)g(U,W)\phi V - (2n+2\psi-4)\eta(U)\eta(W)\phi V - S(V,\phi W)U$$

$$-(3n-5)g(V,\phi W)U + S(U,\phi W)V + (3n-5)g(U,\phi W)V\} = 0. \tag{2.19}$$

Taking $V = \xi$ in (2.19), using (1.4) and (1.6), we get

$$S(U, \phi W)\xi = (-n+3)g(U, \phi W)\xi + 2\psi\eta(W)\phi U - 2(n-1)\eta(W)U - 2(n-1)\eta(U)\eta(W)\xi.$$
(2.20)

Taking inner product of (2.20) with ξ and replacing U by ϕU and using (1.5) and (1.8), we get

$$S(U,W) = (-n+3)g(U,W) + (-2n+4)\eta(U)\eta(W), \tag{2.21}$$

and

$$r = (-n+4)(n-1). (2.22)$$

Again, by substituting (2.21) in (2.9), we obtain

$$P^{*}(U,V)W = R(U,V)W + g(V,W)U - g(U,W)V + 2\eta(U)g(V,W)\xi$$
$$-2\eta(V)g(U,W)\xi + (\frac{2\psi}{n-1} - 2)\eta(U)\eta(W)V + (2 - \frac{2\psi}{n-1})\eta(V)\eta(W)U$$
$$-2\eta(U)\eta(W)\phi V + 2\eta(V)\eta(W)\phi U. \tag{2.23}$$

Thus we state the following:

Theorem 2.2. If a Lorentzian para-Kenmotsu manifold with respect to the generalized Tanaka-Webster connection ∇^* is ϕ - projectively semi-symmetric then it is η -Einstein manifold.

If in a Lorentzian para-Kenmotsu manifold $M, (P^*(U, V) \cdot S^*)(W, Y) = 0$. Then, we have

$$S^*(P^*(U,V)W,Y) + S^*(W,P^*(U,V)Y) = 0. (2.24)$$

Using the equations (2.9), (2.4), (2.6) and (2.7) into the above equation, we have

$$\begin{split} &2(2n-2\psi-2)\eta(Y)g(V,W)-2\eta(W)S(V,Y)-2(3n-5)\eta(W)g(V,Y)\\ &-2(2n+2\psi-4)\eta(V)\eta(W)\eta(Y)+2\eta(W)S(\phi V,Y)+2(3n-5)\eta(W)g(\phi V,Y)\\ &+2(2n-2\psi-2)\eta(W)g(V,Y)-2\eta(Y)S(V,W)-2(3n-5)\eta(Y)g(V,W)\\ &-2(2n+2\psi-4)\eta(V)\eta(W)\eta(Y)+2\eta(Y)S(\phi V,W)+2(3n-5)\eta(Y)g(\phi V,W)=0. \end{split}$$

Using $U = Y = \xi$ into above equation, we get

$$(n+2\psi-4)g(V,W) + (2n+2\psi-4)\eta(V)\eta(W) + S(V,W) - S(\phi V,W) - (3n-5)g(\phi V,W) = 0.$$
 (2.26)

Thus, we can state that

Theorem 2.3. If a Lorentzian para-Kenmotsu manifold M with respect to the generalized Tanaka-Webster connection ∇^* satisfies $P^* \cdot S^* = 0$, then $(n+2\psi-4)g(V,W) + (2n+2\psi-4)\eta(V)\eta(W) + S(V,W) - S(\phi V,W) - (3n-5)g(\phi V,W) = 0$. With respect to the generalized Tanaka-Webster connection ∇^* the conharmonic curvature tensor [4], K^* is defined by

$$K^*(U,V)W = R^*(U,V)W - \frac{1}{(n-2)} \{ S^*(V,W)U - S^*(U,W)V + g(V,W)Q^*U - g(U,W)Q^*V \}.$$
(2.27)

If the conharmonic curvature tensor K^* associated with the generalized Tanaka-Webster connection ∇^* is zero, then from equation (2.27), we obtain

$$R^*(U,V)W = \frac{1}{(n-2)} \{ S^*(V,W)U - S^*(U,W)V + g(V,W)Q^*U - g(U,W)Q^*V \}.$$
(2.28)

By using the equations (2.4), (2.6) and (2.7) into equation (2.28), we get

$$(n-2)g(R(U,V)W,Y) - (3n-4)g(V,W)g(U,Y) + (3n-4)g(U,W)g(V,Y) - 2\psi\eta(U)\eta(Y)g(V,W) + 2\psi\eta(V)\eta(Y)g(U,W) + 2\psi\eta(U)\eta(W)g(V,Y) - 2\psi\eta(V) \eta(W)g(U,Y) - 2(n-2)\eta(U)\eta(W)g(\phi V,Y) + 2(n-2)\eta(V)\eta(W)g(\phi U,Y) = S(V,W)g(U,Y) - S(U,W)g(V,Y) + g(V,W)g(QU,Y) - g(U,W)g(QV,Y).$$
(2.29)

Taking $U = Y = \xi$ into the above equation, we get

$$S(V,W) = (-3n + 2\psi + 3)g(V,W) + (-4n + 2\psi + 4)\eta(V)\eta(W). \tag{2.30}$$

So, we state the following:

Theorem 2.4. If a Lorentzian para-Kenmotsu manifold is conharmonically flat with respect to the generalized Tanaka-Webster connection, then it reduces to an η -Einstein manifold.

A Lorentzian para-Kenmotsu manifold associated with the generalized Tanaka-Webster connection ∇^* is termed recurrent if its curvature tensor R^* meets the following condition:

$$(\nabla_Y^* R^*)(U, V)W = A(Y)R^*(U, V)W, \tag{2.31}$$

where R^* is the curvature tensor corresponding to the connection ∇^* , and A is a 1-form. using (2.31), we have

$$\nabla_Y^*(R^*(U,V)W) - R^*(\nabla_Y^*U,V)W - R^*(U,\nabla_Y^*V)W - R^*(U,V)\nabla_Y^*W = A(Y)R^*(U,V)W.$$
(2.32)

Making use of (2.2), (2.4) and (2.6) in (2.32), we get

$$-g(Y,R(U,V)W)\xi + \eta(R(U,V)W)Y - \eta(Y)\phi(R(U,V)W) - 3g(V,W)g(Y,U)\xi \\ -4\eta(U)g(V,W)Y + 3g(U,W)g(Y,V)\xi + 4\eta(V)g(U,W)Y - 8\eta(U)\eta(Y)g(V,W)\xi \\ +8\eta(Y)\eta(V)g(U,W)\xi + 8\eta(U)\eta(Y)\eta(W)V + 4\eta(U)g(W,Y)V - 8\eta(V)\eta(W)\eta(Y)U \\ -4\eta(V)g(W,Y)U - 8\eta(V)\eta(W)\eta(Y)\phi U + 4\eta(U)g(W,Y)\phi V + \eta(U)\eta(W)g(Y,\phi V)\xi \\ -4\eta(W)g(V,Y)\phi U - \eta(V)\eta(W)g(Y,\phi U)\xi - \eta(U)R(Y,V)W + 8\eta(U)\eta(W)\eta(Y)\phi V \\ +\eta(Y)R(\phi U,V)W - 3\eta(Y)g(\phi U,W)V - 4\eta(Y)\eta(V)g(\phi U,W)\xi - \eta(V)R(U,Y)W \\ +\eta(Y)R(U,\phi V)W + 6\eta(Y)g(\phi V,W)U + 4\eta(Y)\eta(U)g(\phi V,W)\xi \\ +g(Y,W)R(U,V)\xi - \eta(W)R(U,V)Y + \eta(Y)R(U,V)\phi W - 3\eta(W)g(V,Y)U \\ +3\eta(W)g(U,Y)V - 3\eta(Y)g(U,\phi W)V - 2\eta(U)\eta(W)g(V,Y)\xi + 2\eta(V)\eta(W)g(U,Y)\xi \\ -4\eta(V)g(Y,W)\phi U + 4\eta(W)g(U,Y)\phi V = A(Y)\{3g(V,W)U - 3g(U,W)V + 2\eta(U)g(V,W)\xi - 2\eta(U)\eta(W)V + 2\eta(V)\eta(W)U \\ -2\eta(U)\eta(W)\phi V + 2\eta(V)\eta(W)\phi U\}.$$

Replacing W by ξ and using (1.2), (1.3), (1.4), (1.13) and (1.14) into equation (2.33) we get

$$\begin{split} &-\eta(V)g(Y,U)\xi + \eta(U)g(Y,V)\xi - \eta(Y)\eta(V)\phi U + \eta(Y)\eta(U)\phi V \\ &-5\eta(V)g(U,Y)\xi + 5\eta(U)g(V,Y)\xi - 4\eta(U)\eta(Y)V + 4\eta(V)\eta(Y)U \\ &+5\eta(V)\eta(Y)\phi U - 5\eta(U)\eta(Y)\phi V - \eta(U)g(Y,\phi V)\xi + 4g(V,Y)\phi U \\ &+\eta(V)g(Y,\phi U)\xi + R(U,V)Y + 3g(V,Y)U - 3g(U,Y)V \\ &-4g(U,Y)\phi V = A(Y)\{\eta(V)U - \eta(U)V + 2\eta(U)V - 2\eta(V)\phi U\}. \end{split}$$

Taking an inner product with Z in (2.34), we have

$$-6\eta(V)\eta(Z)g(Y,U) + 6\eta(U)\eta(Z)g(V,Y) + 4\eta(V)\eta(Y)g(\phi U,Z)
-4\eta(U)\eta(Y)g(\phi V,Z) - 4\eta(U)\eta(Y)g(V,Z) + 4\eta(V)\eta(Y)g(U,Z)
-\eta(U)\eta(Z)g(Y,\phi V) + 4g(V,Y)g(\phi U,Z) + \eta(V)\eta(Z)g(Y,\phi U)
+g(R(U,V)Y,Z) + 3g(V,Y)g(U,Z) - 3g(U,Y)g(V,Z)
-4g(U,Y)g(\phi V,Z) = A(Y)\{\eta(V)g(U,Z) - \eta(U)g(V,Z)
+2\eta(U)g(\phi V,Z) - 2\eta(V)g(\phi U,Z)\}.$$
(2.35)

Let $\{e_1, e_2, e_3, ..., e_n = \xi\}$ be a local orthonormal basis of vector fields in M. Then by putting $U = Z = e_i$ in (2.35) and summing over i from 1 to n, we obtain

$$(4n + 4\psi - 10)\eta(V)\eta(Y) + (-9 + 3n + 4\psi)g(V,Y) + S(V,Y) -3g(Y,\phi V) = (n - 1 - 2\psi)A(Y)\eta(V).$$
(2.36)

Suppose the associated 1-form A is equal to the associated 1-form η , then from (2.36), we get

$$S(U,V) = (-3n - 6\psi + 9)\eta(U)\eta(V) + (9 - 3n - 4\psi)g(U,V) + 3g(\phi U,V). \quad (2.37)$$

Thus, we state the following:

Theorem 2.5. If a Lorentzian para-Kenmotsu manifold with respect to the generalized Tanaka-Webster connection ∇^* is recurrent and the associated 1-form A is equal to the associated 1-form η , then the manifold is a generalized η -Einstein manifold.

3. Ricci solitons in Lorentzian para-Kenmotsu manifold with generalized Tanaka Webster connection

Suppose the Lorentzian para-Kenmotsu manifold M supports a Ricci soliton with respect to the generalized Tanaka-Webster connection ∇^* . Then, we have:

$$(L_X^*q)(U,V) + 2S^*(U,V) + 2\lambda q(U,V) = 0.$$
(3.1)

If the potential vector field X is pointwise collinear with the structure vector field ξ , meaning $X = b\xi$ where b is a function on M, then equation (3.1) leads to:

$$bg(\nabla_U^*\xi, V) + (Ub)\eta(V) + bg(U, \nabla_V^*\xi) + (Vb)\eta(U) + 2S^*(U, V) + 2\lambda g(U, V) = 0.$$
 (3.2)

Using (2.3) and (2.6) into (3.2), we get

$$(6n - 4b + 2\lambda - 10)g(U, V) + (4n - 4b + 4\psi - 8)\eta(U)\eta(V) + (Ub)\eta(V) + (Vb)\eta(U) + 2S(U, V) = 0.$$
(3.3)

By setting $V = \xi$ in (3.3), we get

$$Ub = \{\xi b + 4n - 4 + 2\lambda - 4\psi\}\eta(U). \tag{3.4}$$

Again, replacing U by ξ in (3.4), we get

$$(\xi b) = -2n + 2 - \lambda + 2\psi. \tag{3.5}$$

Substituting this into (3.4), we get

$$Ub = \{2n - 2\psi + \lambda - 2\}\eta(U). \tag{3.6}$$

By applying exterior derivative on (3.6), we get

$$(2n - 2\psi + \lambda - 2)d\eta = 0. \tag{3.7}$$

Since $d\eta \neq 0$ from (3.7), we get

$$\lambda = 2\psi + 2 - 2n. \tag{3.8}$$

Hence, the Ricci soliton is shrinking, steady and expanding according as $\psi < (n-1), \psi = (n-1)$ and $\psi > (n-1)$, respectively.

Theorem 3.1. If a Lorentzian para-Kenmotsu manifold with respect to the generalized Tanaka-Webster connection admits a Ricci soliton (g, X, λ) where, X is pointwise collinear with ξ , then the Ricci soliton is classified as shrinking, steady, or expanding based on whether $\psi < (n-1)$, $\psi = (n-1)$, or $\psi > (n-1)$, respectively.

4. Example of a Lorentzian para-Kenmotsu manifold admitting generalized Tanaka-Webster connection

We consider the 3-dimensional manifold

$$M^{3} = \{(x, y, z) \in R^{3} : z > 0\}, \tag{4.1}$$

where (x, y, z) are the standard coordinates in \mathbb{R}^3 . Let e_1 , e_2 and e_3 be the vector fields on \mathbb{M}^3 defined by

$$e_1 = z \frac{\partial}{\partial x}, e_2 = z \frac{\partial}{\partial y}, e_3 = z \frac{\partial}{\partial z} = \xi.$$
 (4.2)

Clearly, the above vectors are linearly independent at each point of M^3 and hence form a basis of T_pM^3 . Let g be the Lorentzian metric defined by

$$g_{ij} = \begin{cases} 1, & \text{if } i = j \neq 3 \\ 0, & \text{if } i \neq j \\ -1, & \text{if } i = j = 3. \end{cases}$$

Let η be the 1-form on M^3 defined as $\eta(X) = g(X, e_3) = g(X, \xi)$ for all $X \in \chi(M)$ and let ϕ be the (1,1)-tensor field on M^3 defined as

$$\phi e_1 = -e_2, \phi e_2 = -e_1, \phi e_3 = 0. \tag{4.3}$$

Using linear property of ϕ and g, we have $\eta(\xi) = -1$, $\phi^2 X = X + \eta(X)\xi$, $\eta(\phi X) = 0$, $g(X,\xi) = \eta(X)$, $g(\phi X,\phi Y) = g(X,Y) + \eta(X)\eta(Y)$ for all $X,Y \in \chi(M)$. Let ∇ be the Levi-civita connection with respect to the Lorentzian metric g. Then, we have

$$[e_1, e_2] = 0, [e_2, e_1] = 0, [e_1, e_3] = -e_1, [e_3, e_1] = e_1, [e_2, e_3] = -e_2, [e_3, e_2] = e_2.$$

$$(4.4)$$

The Riemannian connection ∇ of the Lorentzian metric g is given by

$$2g(\nabla_{U}V, W) = Ug(V, W) + Vg(W, U) - Wg(U, V) - g(U, [V, W]) + g(V, [W, U]) + g(W, [U, V]),$$

$$(4.5)$$

which is known as Koszul's formula. we can easily calculate

$$\nabla_{e_1} e_1 = -e_3, \nabla_{e_1} e_2 = 0, \nabla_{e_1} e_3 = -e_1, \nabla_{e_2} e_1 = 0,$$

$$\nabla_{e_2} e_2 = -e_3, \nabla_{e_2} e_3 = -e_2, \nabla_{e_3} e_1 = 0, \nabla_{e_3} e_2 = 0, \nabla_{e_3} e_3 = 0.$$
(4.6)

Let

$$U = \sum_{i=1}^{3} U^{i} e_{i} = U^{1} e_{1} + U^{2} e_{2} + U^{3} e_{3},$$

$$V = \sum_{i=1}^{3} V^{i} e_{i} = V^{1} e_{1} + V^{2} e_{2} + V^{3} e_{3},$$

$$W = \sum_{i=1}^{3} W^{i} e_{i} = W^{1} e_{1} + W^{2} e_{2} + W^{3} e_{3},$$

for all $U, V, W \in \chi(M)$. Using

$$U = \sum_{i=1}^{3} U^{i} e_{i} = U^{1} e_{1} + U^{2} e_{2} + U^{3} e_{3},$$

and the properties of connection we can easily verify that $\nabla_U \xi = -U - \eta(U)\xi$ and $(\nabla_U \phi)V = -g(\phi U, V)\xi - \eta(V)\phi U$.

which shows that the chosen manifold is a Lorentzian para-Kenmotsu manifold of

dimension 3.

We know that

$$R(U,V)W = \nabla_U \nabla_V W - \nabla_V \nabla_U W - \nabla_{[U,V]} W. \tag{4.7}$$

From the equations (4.6) and (4.7), it can be verified that

$$R(e_1, e_2)e_1 = -e_2, R(e_1, e_3)e_1 = -e_3, R(e_2, e_3)e_1 = 0,$$

$$R(e_1, e_2)e_2 = e_1, R(e_1, e_3)e_2 = 0, R(e_2, e_3)e_2 = -e_3,$$

$$R(e_1, e_2)e_3 = 0, R(e_1, e_3)e_3 = -e_1, R(e_2, e_3)e_3 = -e_2.$$

$$(4.8)$$

Further, we find the following:

$$\nabla_{e_1}^* e_1 = -2e_3, \nabla_{e_1}^* e_2 = 0, \nabla_{e_1}^* e_3 = -2e_1, \nabla_{e_2}^* e_1 = 0, \tag{4.9}$$

$$\nabla_{e_2}^* e_2 = -2e_3, \nabla_{e_2}^* e_3 = -2e_2, \nabla_{e_3}^* e_1 = -e_2, \nabla_{e_3}^* e_2 = -e_1, \nabla_{e_3}^* e_3 = 0.$$

Now, we calculate the value of $R^*(U,V)W$

$$R^{*}(e_{1}, e_{2})e_{1} = -4e_{2}, R^{*}(e_{1}, e_{3})e_{1} = -2e_{3}, R^{*}(e_{2}, e_{3})e_{1} = 0,$$

$$R^{*}(e_{1}, e_{2})e_{2} = 4e_{1}, R^{*}(e_{1}, e_{3})e_{2} = 0, R^{*}(e_{2}, e_{3})e_{2} = -2e_{3},$$

$$R^{*}(e_{1}, e_{2})e_{3} = 0, R^{*}(e_{1}, e_{3})e_{3} = -2e_{1} - 2e_{2}, R^{*}(e_{2}, e_{3})e_{3} = -2e_{1} - 2e_{2}.$$

$$(4.10)$$

Using the above results we obtain the Ricci tensor as follows:

$$S(e_1, e_1) = g((R(e_1, e_1)e_1, e_1)) + g((R(e_2, e_1)e_1, e_2)) + g((R(e_3, e_1)e_1, e_3)) = 2. (4.11)$$

Similarly, we have

$$S(e_2, e_2) = 2, S(e_3, e_3) = -2.$$

Now, by using the formula

$$S^*(U,V) = g(R^*(e_1,U)V,e_1) + g(R^*(e_2,U)V,e_2) + g(R^*(e_3,U)V,e_3),$$

We get the following results:

$$S^*(e_1, e_1) = 6, S^*(e_2, e_2) = 6, S^*(e_3, e_3) = -4.$$

Therefore, above manifold is an Lorentzian para-Kenmotsu manifold admitting generalized Tanaka-Webster connection.

References

- [1] Alegre, P., Slant Submanifolds of Lorentzian Sasakian and para Sasakian Manifolds, Taiwanese Journal of Mathematics, 17(3) (2013).
- [2] Blair, D. E., Contact manifolds in Riemannian geometry, In Lecture notes in mathematics, (1976), https://doi.org/10.1007/bfb0079307.
- [3] De, U. C., Yildiz, A., Yaliniz, F., On ϕ -Recurrent Kenmotsu Manifolds, Turkish Journal of Mathematics, (2009), https://doi.org/10.3906/mat-0711-10.
- [4] De, U. C., Shaikh, A. A., Differential Geometry of Manifolds, (2007).
- [5] Ghosh, G., Chand, D., Kenmotsu manifolds with generalized Tanaka-Webster connection, Publications de L Institut Mathematique, 102(116) (2017), 221-230.
- [6] Hamilton, R. S., The Ricci flow on surfaces, Contemporary Mathematics-American Mathematical Society, (1988), 237-262.
- [7] Haseeb, A., Prasad, R., Certain results on Lorentzian para-Kenmotsu manifolds, Boletim Da Sociedade Paranaense de Matematica, 39(3) (2020), 201-220.
- [8] Khan Q., Differential Geometry of Manifolds, PHI Learning Pvt. Ltd, (2012).
- [9] Kiran, L., Nagaraja, H. G., Kumari, D., Concircular curvature tensor of Kenmotsu manifolds admitting generalized Tanaka-Webster connection, Journal of Mathematical and Computational Science, 9(4) (2019), 447-462.
- [10] Kiran, L., Nagaraja, H. G., Manjulamma, U., Shashidhar, S., Study on Kenmotsu manifolds admitting generalized Tanaka-Webster connection, Italian Journal of Pure and Applied Mathematics, N.47-2022 (2022), 721-733.
- [11] Kishor, S., A Quarter-Symmetric Non-Metric Connection In A Lorentzian β -Kenmotsu Manifold, IOSR Journal of Engineering, 4(9) (2014), 32-37.
- [12] Kishor, S., Verma, P., Some curvature properties on Lorentzian β -Kenmotsu manifold with a semi-symmetric semi-metric connection, Tbilisi Mathematical Journal, 13(3) (2020).

- [13] Prakasha, D. G., Hadimani, B. S., On the conharmonic curvature tensor of Kenmotsu manifolds with generalized Tanaka-Webster connection, Miskolc Mathematical Notes/Mathematical Notes, 19(1) (2018), 491-503.
- [14] Prasad, R., Verma, A., Vindhyachal Singh Yadav, Haseeb, A., Bilal, M., LP-Kenmotsu manifolds admitting Bach almost solitons, Universal Journal of Mathematics and Applications, (2024), https://doi.org/10.32323/ujma.1443527.
- [15] Selcen Y. P., Bilal E. A., Erol K., Kenmotsu Manifolds with Generalized Tanaka-Webster Connection, 3(2) (2013), 79-93.
- [16] Singh, A., Shyam Kishor, Some types of η -Ricci Soltions on Lorentzian para-Sasakian Manifolds, Facta Universitatis Series Mathematics and Informatics, 33(2) (2018), 217-230.
- [17] Singh, A., Shyam Kishor, Curvature Properties of η Ricci Solitons on Para-Kenmotsu Manifolds, Kyungpook Mathematical Journal, 59(1) (2019), 149-161.
- [18] Tanaka, N., On non-degenerate real hypersurfaces, graded Lie algebras and Cartan connections, Japanese Journal of Mathematics, New Series, 2(1) (1976), 131-190.
- [19] Tanno, S., Variational Problems on Contact Riemannian Manifolds, Transactions of the American Mathematical Society, 314(1) (1989), 349-379.
- [20] Tanno, S., The automorphism groups of almost contact Riemannian manifolds, Tohoku Mathematical Journal/Tohoku Mathematical Journal, First Series/Tohoku Mathematical Journal, Second Series, 21(1) (1969).
- [21] Webster, S. M., Pseudo-Hermitian structures on a real hypersurface, Journal of Differential Geometry, 13(1) (1978).
- [22] Yano, K., Kon, M. Structures on Manifolds, World Scientific Publishing Company Incorporated, 1984.
- [23] Yildiz A., De U. C. and Ata E., On a type of Lorentzian Para-sasakian manifolds, Math. Reports, 16(66), (2014), 61-67.